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Do not write any mark of identity inside the Answer Script (including Paper for rough work) i.e. Name, Address, Roll
Number, Mobile Number etc. Not to be written even in the letter writing (XYZ, ABC etc.'may be written) Name of God,
any religious sign, any irrelevant sentence, words, number other than the answer of question must not be written: Such
act will be treated as unfair means and entire examination of the Candidate shall be cancelled and he may be: debarred by
the RPSC from all the future examinations, for which the candidate will be liable.
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the Cover Sheet.
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PAPER - 11
GENERAL STUDIES & GENERAL KNOWLEDGE

(Total 200 Marks)

(Total 39 Question)

Unit-1 (65 Marks)
(@E -1 (65 3®)
Part—-A Marks: 10
AT — 3 3w : 10

Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries
2 marks.
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1. Explain the role of the concept of ‘sthit pragya’ in the discharge of administrative
responsibility. '
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2. What teachings of Buddha are most relevant today and why?
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4.  Explain the relevance of ethical idea of ‘Rina’ in the administrative life.
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| 3.  What do you understand by ethical dilemma?
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‘__________________
6. ‘Men’s Moral Advancement depends upon complete advancement of society.” Discuss.
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Note: Attempt all questions. Answer the following questions in 50 words each. Each question c‘arries
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7.  “Family is the most important institution for the moral development of man”. Evaluate this
statement.
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8.  Explain the Kant’s ultimate good on the basis of relative and categorical i unperatxve
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What are generally considered to be the minimum basic needs of an individual to lead FL

healthy and productive life? What is the administrators responsibility in ensuring these
minimums?
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10. 'What are the core ethical values required for excellence in civil service?
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11. “Necessarily related, means cannot be separated from ends. Therefore, both must be auspicious |

for real and lasting success.” Explain the above comment in the context of Gandhian ethics.
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11 12. Explaln the factors essential in “Ethical decision” making. In case of ethical decision bemg agamst
to administrative decision, how will you harmonise them? Explain with examples.
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1. Differentiate between nuclear fission and fusion.
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2. Explain the role of calcium carbide in the artificial ripening of fruits.
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‘What is the basic concept of operation of RFID? Give two application of this technology.
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Attempt all questions. Answer the following questions in 50 words each. Each question carries
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Write any five benefits of the medicinal plant — Guduchi/Giloy.
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(a) Which property of carbori is responsible for formation of large number of compounds?
(b) Write domestic and industrial applications of carbon compounds.
(c) Give an example of each —
(i)  Artificial sweeteners
(i) Food preservatives
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. Describe the functioning of the human eye and exPIam any one of the refractive defects of visiont

and its corrective measure.
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13. Mention the contribution of the following Indian Scientists —
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Write the names of Mountain Ranges/Hﬂls of Western Ghats.
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Discuss in brief the geographical features of Rocky Mountain range.
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Discuss the geographical characteristics of Tropical evergreen forest of India.
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Discuss the physical features of Hadoti plateau of Rajasthan.
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12. Describe the development of non- -conventional energy in Rajasthan. _
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1 13. Explain the concept of Geo-heritage and highlight its potentialities in Rajasthan.
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